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Microscope consists of  two

convex lenses called Eye piece

and objective. The focal lenath of

eye piece i5:

(1) larger than the focal length
of obhjective

(2) smaller than the focal length
of objective

(3) same as the focal length of
objective

(4) MNone of these

The part of human eye that
regulates the amount of light
entering the eye:

{1) Eyelens

(2} Comea

(3) Retina

(4) Ins

A mineral discovered around 800
B.C. in the town of Magnesia had
a wondrous property. It could
attract pieces of iron towards it.
The name of the mineral was :
(1) Limonite

(2) Siderite

(3) Magnetite

(4) Haematite

The strength of electromagnet

can be increased by :

(1) increasing the current
flowing through the coil

(2) increasing the number of
turms in the coil.

(3) pladng a soft imon core in
the cojl.

(4) All of the above.
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5,

8.

10.

What is the taste of acid?
(1) Sweet

(2) Salty

(3) Bitter

. (4) Sour

Biogas I5s a mixture of ;

(1) CH4, CO: and other gases
(2) CHy, CO and other gases
{3) CH., H;0 and other gases
(4) CH,, SO, and other gases

Pleces of matter that somehow
could not get assembled in the
form of planet are :

(1) Meteor

(2) Meteorite

(3) Asteroid

(4) Comet

Convex lens will form image at
focus when the position of the
object will be at :

(1] Infinity

(2] Beyond 2F

(3) AL 2ZF

(4) Between F and 2F

The name of the devicef
instrument used to see ships on
the surface of water from a
submarine is:

(1) Telescope

{2) Kaleidoscope

(3) Microscope

(4) Periscope

Human gear cannot  hear
frequencles greater than:

(1) 20 Hz

{(2) 20 KHz

(3) 200 Hz

{4) 200 KHz
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11.

12.

13,

14.

15,

The example of conductor of
electricty is:

(1) Air

(2} Wood

(3) Plastic

(4) none of these

The percentage of argon In air is:
(1) 90%

(2) 9%

(3) 0.9%

(4) 0.09%

In the Chemical reaction:
PbyO4 + 2 C —+ 3Pb + 2 CO;

(1) Pb30,is getting reduced & C
Is also getting reduced.

(2) PbyO,is getting oxidised and
C is also getting oxidised.

(3) PbyOs; Is getting reduced
while C |s getting oxidised.

(4) Only PbyO, is getting
oxidised,

caco, -Heal__ ca0 + co,
This is an example of :

(1) Decomposition reaction
(2) Displacement reaction

(3) Double displacement reaction
(4) Combination reaction

The atomic number of a given
glement s 82 and the mass
number is 208. The number of
neutrons in the nudeus will be:
(1) 8z

(2) 208

(3) 290

(4) 126
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16.

17.

19.

20.

The number of atoms present in
one molecule of element or
compound is known as:

(1) Valency

{2) Atomlciky

(3) Atomic number

(4) AtomicC mass

Name of the alloy wused for
making permanent magnets

(1) Alnlco

(2) Duralium

(3) Steed

(4) Solder

The lead in pendis is made of
(1) Lead

(2) Iron

(3) Graphite

{4) Silicon

Methane gas is collected in the
gas jar by the downward
displacement of water because
methane is

(1) Soluble in water

(2) Partially soluble in water

(3) Insoluble In water

(4) none of these

It is advised that one should not
sleep in a room in which all doors
and windows are closed with a
burning coal sigrl / angithi
because a polsonous gas is
evolved. The name of the gas is :
(1) Sulphur dioxide

{2) Carbon dioxide

(3) Ozone

{4) Carbon monoxide
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21. Hardness of water is caused due 21,
to presence of salts of:
(1) Potassium and Magnesium
(2) Lead and calcium
(3) Caldum and Magnesium
{4) Caldum and Manganese

22, During electrolysis of water, 22
hydrogen gas is collected:
(1} at Anode
(2) at Cathode
(3) between Anode and Cathode
(4) none of these

23. When reactive metals like Mg, Zn 23
etc react with dilute sulphuric
add then the gas evolved is:
(1) S0;
(2) S0
(3) O:
(4) H;

24. The soll transported due to 24,
gravity, as in landslides and
mudflows in mountainous regions
is known as:

(1) Alluvial soil
(2) Colluvial soil
(3) Residual soil
{4) Mountainous sail

25. The mode of reproduction In 25,
bacteria is:
(1) Asexual
(2) Sexual
(3) Both Asexual and sexual
(4) MNone of these

26. Most fertile farm lands consist of: 2.
(1) Extremely acidic soil
(2} Extremely alkaline saoil
(3) Alkzline soil
(4) Neutral soil
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28,
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31,

32.

Malaria IS caused due to:
(1) Mosquito

{2) Housefly

(3) Bacteria

{4) Plasmodium

Name of the disease in which a
person is scared of water so
much that he cannot even
swallow liquids.

(1} Rabiles

(2) Polia

(3) AIDS

(4) T.B.

TAB vaccine provides prevention
against typhoid for about:

(1) 1year

(2) 2 years

(3) 3 vyears

(4) 4 years

Type af nutrition In one-celled
amoeba is

(1) Holozoic

(2) Parasitic

(3) Saprophytic

{(4) Autotrophic

The organ whichh helps in
remaoving excess sugar from the
body by converting It into
dlycogen for future use:

(1) Pancreas

(2) Liver

(3) Stomach

(4) Kidney

The smallest functional unit of
the nervous system Is

(1) Nephron

(2) Neuron

(3) Nephridia

(4) Nerve
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34.

da.

36.

7.

38.

Which among the following is
made up of many cells?

(1) Zygote

(2) Sperm

(3) Ova

(4} Embryo

Energy given by same amount of
fats as compared to carbohydrates
i5:

(1) Two times

(2) Three Times

(3) Four Times

(4) Same

Fat soluble vitamins are:
(1) Vitamin A

(2) Vitamin D

(3) Vitamin E

(4) All of these

Nizam-ul-Mulk tile was given to:
(1) Hyder Ali

(2) Murshid Quli Khan

(3) Chin-Qilich Khan

(4) Saadat Khan

Who formulated the policy of
‘Doctrine of Lapse?

(1) Lord Comwallis

(2) Robert Clive

{3) Warren Hastings

(4) Lord Dalhousie

Who founded the Satya Shodhak
Samaj in 18737

(1) Mahadev Gobind Ranade

(2) IJotiba Phule

{3) Narayana Guru

(4) Dayanand Saraswati
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39. Wha was the first president of the g,
Indian National Congrass?

(1)
(2)
(3)
(4)

Womesh Chander Bannerjees
Surendernath Banarjee

A.Q. Hume

Dadabhal Maoroji

40. When did Chauri Chaura incident 40,
take piace in Uttar Pradesh?

(1)
(2)
(3)
(4)

41.

4™ February 1921
4™ February 1922
5% February 1922
s™ February 1921

Who presided over the congress 1.

session held in 1929 at Lahore |n

which

'Purna  Swaraj® was

declared as its goal?

(1)
(2)
(3)
(4)

42. Who among

Mahatma Gandhi
Motilal Nehru
Chittaranjan Das
Pt. 1. L. Nehru

the following is 42

knows as ‘Frontier Gandbi™?
{1) Mahatma Gandhi
{2) Khan Abdul Ghaffar Khan

(3)
(%)

Surya Sen
Vallabhbhai Patel

43. Name the dynasty Involved In a3,

Tripartite struggle for

control

over Kanauj :

(1)
(2]
(3)

(4)

LUPSATI 0

Chalukyas, Palas,
Rashtrakutas
Chalukyas, Gurjara-
Pratihara, Palas
Palas, Rashtrakutas,
Gurjara-Pratinaras
Chauhans, Palas,
Rashtrakutas
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45.

46.

47.

a8.

49,

In which year, Babur defeated
Ibrahim Lodl and his Afghan
supporters at Panipat.

(1) 1526

(2) 1527

(3) 1524

{(4) 1626

Name the river on the delta of
which the town of Masulipatnam
was situated?

{1) Narmada

(2) Ganga

(3) Krishna

(4) Tungabhadra

Alvars were the saints devoted to
which Lord.

(1) Shiva

(2) Vishnu

(3) Krishna

(4) Buddha

Who is known as the ‘Tiger of
Mysore'?

(1) Haider Ali

(2) Shivaji

(3) Tipu Sultan

(4) Warren Hastings

Where are Ox-bow lakes found?
{1) Glaciers

(2) River Valleys

(3) Deserts

(4) Volcanoes

Radio-waves are found in which
layer of Atmosphere?

(1) Troposphere

(2) Mesosphere

(3) Stratosphere

(4) Thermosphere

UPSATY OB

4T,

TodET T R A @ e d W
gmam?
(1) i
f2)
@) Tom
) Hm=

AN P EnE e ?
@) fm
@ fs
B) =
W I=

e e Agy s am # 7
(1) &= &=

2) fmarn

B) o uEm

) =

Stewn-a 3l Tl ug =nft & 7
1) wofteR

(z) = efeat &

B e

(@) v

e ool opreea @ Rew T A o
=g

(1) wmfa de=
2 =i d==
f3) YOW A5
fs) ™M Hel



20.

51.

S2.

53.

o4,

55.

What types of rocks are formed
when the ‘Molten Magma’ cools?
(1) Metamorphic Rocks

(2) lgneous Rocks

(3) Sedimentary Rocks

(4) None of these Rocks

Coal and Petroleum are examples
of which resources :

(1) Renewable Resources

(2) MNon Renewable Resources
(3) Human Resources

(4) Al of the above

in South Africa, Temperate
Grasslands are known as:

(1) Pampas

(2) Prairies

(3) Veld

(4) Steppe

Teak, Sal and Shisham trees are
found in which type of forasts :
(1) Mountainous Forest

(2) Delta Forest

(3) Decdduous Forests

(4) Ewvergreen Forests

How much rainfall is required for
the cultivation of Rice:

(1) 100 cm te 200 cm

(2) Lessthan 60 cm

{3) More than 300 cm

{(4) No rain

Where is Kolar situated, which
has maximum deposits of Geld in
India.

(1) Chattisgarh

(2) Karnataka

(3) Jharkhand

(4) Rajasthan
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56.

Heat energy cobtained from the
Earth is called:

(1) Geothermal Energy

{(2) Wind Energy

(3) Solar Energy

(4) Tidal Energy

57. Out of the following, which is
known as “Golden Fibre™?
(1) Coffee
(2) Tea
{3) Cotton
{4) Jute
58. "Osaka” an Important textile
centre is also known as:
(1) Manchester of Germany
(2) Manchester of America
(3) Manchester of India
(4) Manchester of Japan
59. In which year the first digital
electronic computer was
developed in U.5.A?
(1) 1972
(2) 1982
(3) 1946
(4) 1956
60. Out of the following which is not
a feature of India’s Foreign
Policy:
(1) Non Alignment
{2) Panchshesl
(3) Sodal Justice
(4) Opposition to Colonialism,
Imperialism and Racialism
61. In which year UNESCO was
established?
(1) 1946
(2) 1846
{(3) 1956
(4) 1856
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62. On which day United Nations Day &2 &g ¢ Rew & w4 fEa fam w=mm

Is celebrated every year? A B 7
{1} 24™ December 1) 2¢ P
(2) 24™ November B} 24 FEEE
(3) 24" October (3) 24 AR
(4) 24" September () 24 fiverse
63. FIR means : & UBHARSR i 7099 &
(1) First Information Report (1) wam o R
(2) Fast Information Report (2) =@ ¥on RO
(3) First Individual Report (3) v =fema fgrd
(4) Fast Individual Report (4) =z mfrm R
64. The various ways through which & #7= A diww & fay swam mw RBfew
we communicate in sodety is T B B wr B
called : (1) freme
(1) Advertising (Z) e (G
(2) Media B) - aEw
(3) Information Technology ) TEoE

(4) Internet

65. Female foeticide is an example 88 YEawr frem Semem

of: (1) @AW=

(1) Democracy () i TweEn wETR
(2) Universal Adult Franchise (3 == o Aflisw

(3) Equality 4) AE s

(4) Gender discrimination

66. The election symbol for Indian &6 =i T e W T foes &

National Congress is: (1) Fa
(1) Lotus (2) Emh
(2) Elephant B)
(3) Open hand &) owiE B T

{4) MNone of the above

67. The members of State Legislative & e S oew W sm e g

Assembly are called: (1) g

(1] M.P. (2) fruros
(2) M.LA. B) TS
(3) Governor 4) ITEeE i

(4) MNone of the above
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68. Wheolesale and Retail are related &3

69.

70.

71.

73.

concepts of:

(1) Advertising

(2) Media

(3) Market

(4) None of the above

To ban the killing of Cow, to stop B2
the practice of Intaking of
intoxicants, wine etc  are
examples of:

(1) Fundamental Rights

(2) Fundamental Duties

(3) Directive Principles

(4) None of the above

Which day is celebrated On 10® T
December every year?

(1) ~ Independence Day

{2) Republic Day

{3) Human Rights Day

(4) Van Mahotsay

3
Value of (0.000064)* is : Ti.
(1) .0012
(2) .00032
(3) .003
(4) .000032

(-216x1728)° = ? 72
(1) 27
(2) —27
(3) 72
(4) —72

Square root of 518.365 cormect to 73
four decimal places Is:

(1) 22.7670

(2) 21.3931

(3) 22.7658

(4) 22.7676
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A table is sold at a gain of 16%.

74.

Had it been sold for Rs. 100
more, the gain would have been
20%. Find the CP of the table.

(1} Rs. 2225/-

(2) Rs. 2670/-

(3) Rs. 2500/-

(4) Rs. 3000/-

75. The difference between the
compound interest and the
simple interest on a certain
amount for 2 years at 10% per
annum is Rs. 300/-. Find the
amount.

(1) Rs. 30,000/-
(2) Rs. 6,000/-
(3) Rs. 3,000/-
(4) Rs. 60,000/-

76. If S5p-2g=1& pg=2, find the
value of (125p° —8g°).
(1) 63
(2) 75
(3) 62
(4) 61

77. A steamer going downstream in a
river covers the distance between
two towns in 20 hours. Coming
back upstream, it covers this
distance in 25 hours. The speed
of water is 4 Km/hr. What is the
distance between two towns?

(1) 600 Km

(2) 700 Km

{3) B0DKm

{4) 400 Km
UPSATI OF

14

4

T

TE

TE UW 16 Wowmd & 9 W dm wnn B
O 99 100 TOU S W dni S, W@
={ 20 WidTa g0l W 5= J
T |

(1) 2225/- &4

(2) 2670/- v

(3) 2500/- ¢

(4) 3000/- =qY

fatit wrats qv 10 witvmm oilde @ = 9
2 99 & BEgle A iR AR e w5
Y 300 TUT & | AL AR FI9 S |
(1) 30000/- =97
(2) 6000/- 9Y
(3) 3000/-%w07
(4) 60000f- T

ae Sp—2g=1 I pg=2 & @
(125p° —8q° )= 7 =/ F4|

() e
2 75
(3] &2
8} &1

T B A8 B AW I B B W
4 T & 4 2 gh 20 62 A 9 s
Bl 72M & fuda fomm 4 afte @ £
R o gl & 25 ue § 99 e £
Faa #F i 4 AL o ger 21 FF
TR & 4" 1 3h fean & 7

(1) GO00'Km

(2) 700 Km

(3) 800 Km

(4) 400 Km



" "

78.

Fat

80.

81.

‘A chord of 8 ¢cm is in a drde of

radius 5 cm The distance of the
chord from the centre of the
cirde is:

(1) 5cm

(2) 4cm

(3) 2Icm

{(4) £ om

A regular decagon Is inscribed in
a circle. Each side of the decagon
will subtend an angle at the
centre of the circle:

(1} 3g°

(2) 45°

3y 72°

(4) 90°

The mean of 5 obsarvations Is 15.
If mean of the first three
observations is 14 and that of
last three are 17. The third
observation is:

(1) 1%

(2) 17

(3) 14

{(4) 18

A right triangle ABC with its side
5 em, 12 cm and 13 cm is
revolved about the side 12 cm.
Find the volume of the solid so
obtalned.

(1) 144 =

(2) 100x

(3) 150=

(4) 200 =

UMNSAT! 08

15

7 TSomEmFIWMASon @ AR

A A # S A W g e
(1) Sem
(2) 4cocm
(3) 3cm
(4)

2 Em

UE 7R W 3T U6 W I a (regular
decagon) dATN TH| SIME # R
R dgn @ &5 « 1 =W 8m

(1) 36°

(2) 45°

(3 72°

(4) 90°

i ool w osma 18 #1 A www f=
vE @ Arem 14 @ @wn afm fm s
s tddmokEmdaat
(1) 15

(2) 17

(3) 14

(4) 18

U Y e ABC Reed WO S
. 12 L, 13 W0 @, 12 R & e
3 wftn gum W@ @ W W TR WE
oI o W @ 7

(1) 144 =

(2) 100 =

(3) 150~=

(4) 200



B2,

83.

B4,

85.

The age of Buby and Reshma are
in the ratio 5:7. Four years later,
thelr ages will be in the ratio 3:4.
Heshma's age is:

(1) 20

(2) 4

(3) 28

(4) 24

The height of 10 girs were
measured in ¢cm as 132, 151,
146, 149, 139, 128, 150, 135,
148, 143. The range of height of
the girls :

(1) 151 cm

(2) 128 cm

(3) 23 om

(4) 142.1cm

What price should be marked on
a pair of shoes which costs him
Rs. 12007 S0 as to gain 12%
after allowing a discount of 16%.
(1) Rs, 1300/-
(2) Rs. 1400/-
(3) Rs. 1500/-
(4) Rs, 1600/-

| ]
Value of 271 [2?’ —2?’] |51

(1) =2
(2) =3
(3) 2
(4) 4

LF

B4

fh,

w1 afte e W Ty A 8 0 7 W S
#1 oy wf grmw Gl arg W e
3¢ 4 EY oy e @ ay e #
(1) 20

(2] 4

(3) 28

(4) 24

10 #FfFd & dud ocm § WA W
132, 151, 146, 149, 139, 128, 150,
135, 148, 143 wf w1 wefawl =
warg o g a8l g

(1} 151 cm

(2} 128 cm

(3) 23cm

(4) 142.1 cm

1200 Uy A WG qu AGE W qE S
WO 16 UEE e dcel B & A
12 ufirma =9 & W EE EMT

(1) Rs. 1300/-

(2) Rs. 1400/-

(3} Rs. 1500/-

(4) Rs. 1600/-

z'r'Tl:ﬁ-z?i]m 7
oD

(2P §

[3)a2

(4) 4



The value of 0-39 |s: s, 0-39 31 AW 8-

39 30
230 iy et
(t) [ (WD (1) 104
] o
33 33
5 3
G) = () =
1 |
() 3 (4) 3

Radius of a shot putis 7 cm. Its &7 U@ 7 &t Bem 7 90 31 oo g=im

surface area is: A% 8

{1} 515 cm’ (1) 515 cm?
(2) 616 cm? (2) 616 cm’
(3} 620 cm’ (3) 620 cm’
(4) 343 cm’ (4) 343 em?

If a+b+c=0then a° + b+ = 7 BB, Ui ath+c=0 Fra’+ b+ =7
(1) 3(abc)’ (1) 3({abc)?

(2) 3ab®c? (2] 3ab’c2

(3) 3abc (3) 3Jabc

(4} 3a’b'c (4) 3a’h’c
Value of (998)%is; ga.  (998) @ TH £
{1) 998001 {1) 9%8001
(2] 994011952 (2] 994011992
(3] 99803001 (3) 59803001
(4) 997002999 (4) 997002999

If 2460375 =3375xT729 then oo, ufy 2460375=3375x729 2 @t

cube root of 2460375 is ! 2460375 & o &
(1) 729 (1) 729

{2} 3375 (2) 3375

(3) 133 {3} 133

(FRE135 (4) 135



National Means cum Merit

Scholarship Scheme
Examination 2008 (Special)

Scholastic Aptitude Test

STATE INSTITUTE OF EDUCATION
UT CHANDIGARH



Directions:
Questions 1 to 10 below, there is a serles
with one term missing are shown by (7).
This term is one of the four térms given
below It. Find this term.

= S51,8, 7, 27,9, 04

{1} 4 (2) &
2. 4,9, 16,25, 36,7

(1) 47 (2) 48
3, 2,65,12;20, 30,42, 7

(1) 48 (2) 52
4. 0,3,8, 7,24, 35,48

(1) 12 (2) 13
5. 99, 98, 94, 85, 69, 44, 7

(1) 9 (2) 8
& 1,10,7,100, 1001, 1000, 10001

(1) 101 (2) 110
?" Ei 3! EJ 2.- ?.l 1! '.I'

(1) © {2y 2
B. 58, 29,32, 8, 34,17, 20, ?

(1) & (2) 5
9, 9,6 10,7 1B, 25, 34, 45

(1) 11 () 12
10. 120, 119, 111, 102,38, ?

(1) 10 (2} 13
UPMATAOR

(3)

(3)

(3]

(3)

(3)

(3)

(3

(3)

(3)

(3)

e

R i-nur A i3 Te o
ot RN MR W AR
s #1 g9 sl |

: (4) 16
29 (4) S0
56 . (4) S8
14 (4y 15
15 (4) 12
1011 (4) 111
8 (4) 4

4 (4) 3
13 (4) 14
18 (4) 25



Directions:

Questions 11 to 20, there is a question

mark in blank space in which only one of

the four alternatives given under the

question satisfies the same relationship

as |s found between two terms on the

either side of the sign (: :} given in the

question.
11, ABC : EDC :oGHIL?

(1) JKL . (2]
12. B:7?::64:10

(1) 1 (2]
I el e e )

(1) 21 (2]
14, 13 : 33?141

(1) 61 (2]
| i i e M e )

(1) O (2)
16, 12 =3¢ =130 42

(1) 18 {2)
17. 135 : 357 :: 7 : 486

(1) 246 {2)
180 11 =17 adn

(1) 19 (2]
19, B:H:m1 2+ P

(1) 14 (2]
20. MLK : TSR :: EDC : ?

(1} SQR (2)
UFMATIOR

MNP

13

97

15

146

21

15

NOP

(3)

(3)

(3)

(3)

()

(3)

(3)

(3)

(3)

(3]

e

A 11—20 T =l ¥H ® @& @) w1
fo= foor 7 &) foraen oo AW ey Mo
ffEeat 4 32 T 81 99 2 W W Td
UT & HY 9% W= ¢ W fvim Ry

<1 9E1 W A0H | £ |

KJI (4) DK
3 (4) 4

16 (4) 14
78 (4) 107
2 (4) 3

20 (4) 24
345 (4) 356
23 (4) 25
16 (4) 17
YXZ (4) YXW



Directions: .

Questions 21 to 25, given below are 9 21-25 % & U9 UF 6 oo W
based on digit series from which someof . uPm g A s SF @ oI
the digits are missing. The missing digits A% ¥ U o AW T M e R A

are given in the proper sequence aa.nne 3 wF % <fom W A e M B —
of the altematives among the four given

under each question. Find the correct i

alternative in each case.

21. baa—aab —aba-—

(1) baa (2) bab (3) bba (4) aba
e Hn | Bl )1 b1 7 L B
(1) 1010 (2) 0101 (3) o011 (4) 1110

23. a__bba _aa _b__a

(1) aaab (2) aaba (3) abba (4) abab

.l TS I T T e, R S T U . LR ST T e
e o A e L
The last four terms in the number series are
(1) 1234 (2) 3112 (3) 3211 (4) 2312

?5. 00001 " 0013:01
(1) 0001 (2) 0011 (3) 1110 (4) 1000

UPMATAE 3 L



Directions:

Questions 26 to 30, there are nine cells
in each square. For each question, there
is a different rule according to which
eight of the cells have been filled and one
left’ vacant. Find out from the four
alternatives the one, which correctly fills
in the empty cell in the square after
understanding the rule applied.

26.
17 | 50 | 28
2 | 8 | 18
20 9
27,
6 3225
12 | 28 | 30
36 | 16 |
28.
T lcomls
12| 9
36| 3 |45 |
29
13 ] 4 104
17| 9 | 95
43 | 52
30
12 | 36 | 30
2| 6
18 | 48 | 24
LFALATOE

e

.#Fﬁﬂﬁ—-ﬁﬂﬂﬁlﬁﬂﬁﬂﬂﬁitﬁ

T 3 fam Fran B & fored apER
wH WO & R OF =@ o #) W
7 fafge frm = W = W OTE B
wre R o oar fesn # § 99 W
farn = g o o & Ry m @@

s @ fom Iuge By
(1) 42
(2) 24
(3) 28
(4) 36
{1y 52
(2) 54
(3) 25
(4) 48
(1) 1%
(2} 28
(3) 18
(4) 38
(1) -22
(2) .26
(3} .30
(4) 85
(1) 56
(2) 40
: (3) 48
" . (4). - 54



Dtreﬂinnst-

Questions 31 to 35, there is a particular
relationship between different terms of
the questions. There is one place left
blank. Find out the correct answer from

the given four alternatives.

31. 7 el (1)
SRt sat ﬁ
3
6 — 5
(4)
7 59 0
32, 14+ 13%x3 =87 (1)
17 4+ 16X 2 = i (2)
(3)
(4)
33. Ifl1lx7 =70 (1)
then 12X B = s (2)
(3)
(4)
34, If2 =5 {1}
4 w 18 {2)
6 = 39 (3)
B = 68 (4)
10 =
35. If 9x3x6=21 (1)
9x4x0 =27 (2)
Bx7x6=5D (3)
Bx8x9m ... (4)
UPMATIOR

40
44
48
56

68
70
74

20
48
88
96

foem

A 31—35 oF for ™ faf= ost 4 oS
fadm wwiw &) 5 e o U A R R
fer v 9 Becl 4 2 1 P Al o
CAl e 1G i |

105
110
100

95

44
50
55
56



.
Directions:

Questions 36 to 40, coding is done by a
particular sequence, for first word.
Following the same sequence, find the
appropriate code for the second word.

36.
then FURNITURE is coded as :
{1) 134958347 (2) 1245578593 (3)

37.

(1) ASTENT (2) ABSENT (3)

38.

KIKLKIFIS (2) KILFKIFIS (3)

(1)

(1) ITOFFQ (2) ITODFQ (3)

40.
(1) 586453 (2) 685534 {3)
Directions:
Questions 41 to 45, there are series of
groups of letters where each group has
two, three, four or more letters. One
term/group of letter is missing. Find that
term or group of letters from the four

alternatives given after each question.

e
A8 35—a0 WF T wSnE g A qwe el
w1 ox Bvw w4 318 e T & 99

wa o ey v @ e 9w e 4l |

If FOUR Is coded on 1234, FIVE is coded as 1567 and TEN |s coded as 879,

125845437 (4) 124958347

If ADOLESCENT is coded as 3517298246, then 398246 is decoded as :

ABODEE (4) ASCENT

If HIGHLIGHT i coded as GIFIKIFIS than, LIMELIGHT will be coded as :

KUFKIFIS (4) IJKFLKIFIS

If GOLFER is coded as HNMEFQ then, HUNGER is coded as !

IVOHFS  (4) TIDOQF

If LACE Is coded as 6543, DEEP is coded as 2338, encode PALACE :

856543  (4) 384556

ferdar:

#M 41—45 TF T 79 9w W I WS

s T ) Huen § R R 7 @
W FH §E 0w A

ﬂfﬂw
wE & o R A F 3

41. AE,DH, __ ., IN, MQ-

(1) RV (2) GK (3) VZ (4) HL
42. QPNOM, RQOPN, SRPQO, TSQRR, UTRSQ,

(1) . VWTUS (2) VUSRS (3) VUSTR (4] WVVSUS
43. ACF, EG] IKN, MOR,

(1) Qsv (2) oQ (3) wuqQ (4) NPT
44. BD, KE, I, RT

(1) SM (2) TR {(3) SN (4) P

UFNLA TSR ]

e



45, EFAB, KLGH, QRMMN,
(1) WXST ) YAST (3) YZTS {(4) WXRS
Directions: o

Questions 46 to 50, there are four groups /g 4550 3 ¥t 79 § WH & 91
of letters In each; Three of these groups mae 2 | g9 & & xew ot 4 &0 A
are alike in some way while ofe IS  eon on o s 3 s Ts B

different, Find the one which is different.

46,

47.

€ |99 g& |

(1) EFH {2) LMO {3} RSU (4) WVT

(1) BDFHI (2) OQSUW  (3) ZACEG (4) VXZBD

48,
(1) suv (2) NOR (3] TWX .(4) HKL
49,
(1) DBZ (2) QOM (3) UsSQ (4) IJLN
50.
(1) HF] (2} IKG {3) XVE (4) LIN
Directions: fagm
Questions 51 to 55 are verbal problems. 9 5155 3 HrE=® TS
51. Five magazines are lying in a pile, M is lying on F, and H is lying under G. F Is

od.

lying above G and [ is lying under H. Which maaazine is lying in the centre.

AT IR TS AT A M, FEER TS S H G AR ™ EARF G
% H9 TS & I, H P {1 g 1 3 @ e e g g
(1) M (2= (3) G 4) I

My father |s thrice as old as my brother. I am B years younger to my brother
but 4 years older to my sister. If my sister is 10 years of age how old is my
father.

5 i 1 90 R WY W O T s & ww i R s 2 e g e el
984 | T T 991 5 9% A 959 ¥ 99 10 3% # o R fa @ 99 = e

(1) 30 (2) 26 (3) 60 (4) 40

URMATAS 7 x



53.

55.

Five men are standing in a row. B is on the left of C. D is on the right of E which
is on the right of C. If A is on the left of B which man is in the centre.

Uiy =fis UH Se 4 @e 8. B, C%H ¥i% 4R wWer 21D, EW = R TE ¥ Wi C
3 o ol We ) TR A B S w o @ & A W W At e A e d)

(1} D (2) C (3) - E [y

Jolly had fifty rupees. Her mother gayve her seventy four. Then jolly gave
twenty seven rupees to her brother and returned seven rupees to her mother.
She also gave one rupee to a begger. In the end, how much money is left with
Joliy?

weii & o 50 wUT | SEET A 4 99 74 U 2y SiEh 3 2r TOv e WTE W
fam aife 7 TOUT A @ wtel [BU) 999 TS wmU@ PrEnt @ W R s # ot ®
o fE Ty g

(1) 124 (2) 27 (3) 89 (4) 90

I was bomm on August 11", Mehan is younger to me by eleven days. This year
Independence day falls on Monday. The day on which Mohan's birthday will fall

this year is.

T A RO e e - O 3t 8 I o 2 B s B
FI U= 721 & of 9154 @1 o (21 59 919 9 57 8nmi
{1} Monday (2) Tuesday (3) Wednesday (4] .Sunda}r

Directions: it

Questions 56 to 60, a diagram is shown =i ss—g0 # femmg T ame # amsfE
with figures inter-locking each other.  ymm & moft g # vl angfa U a9
Each figure represents certain sections of O HAE @ Wiiae @ & e

people which are indicated there on.
Different regions of the diagram are

ST I A q 81918 8 angh ®

lettered a to g. Read the statements of R~ afwl w1 a 9 g wH S

the guestions given below the diagram T 2, A % T ST I ouEE S e
and write down the letter of the reglon &I Ug &z IE[ & &5 & 99 3 &I

which represents the statement. fered AT ZaWd &1 Widi-eea aear 8l |
Americans Painters
D X =¥ firEen

UPMATAE

2°a

—— Sculptures

(=1

o
-



36. Americans who are painters but not sculptures.

IHREE! il fHTaN 8, R e T8

(1) a {2) b (3) c (4) d

37. Painters who are neither Americans nor sculptures.
Rrrer &t 7 o i 2 sl 9 & qffew)
(1) c (2) d (3) e (4)

58. MNon-Americans Painters and sculptures.

¥ i R oy Afifen |

(1) a (2) b (3) e (4) c

59. Americans who are sculptures but not painters.

il W qfier § w feew T8

(1) d (2) b (3) ¢ (4) a

60. Americans who are painters as well as sculptures.

smhm Wl R e gffer 26 )

(1) a (2) b (3) ¢ (4) d

Directions:

Questions 61 to 65, new cperations have
been assigned to seme old signs. Read
the instructions carefully and find the
suitable answer for the glven problems
out of the 4 given alternatives.

fadm:

#4 s1-65 4 TR Rt W oww
s @ wf &) Adt B iy
ey # O wruel @ Iugm oW
Fr=ifefam o feet 9 @ sl

61. If + means ‘multiplication’, x means ‘minus’, — means "division’ and + means

(36x4)—-8x4 e
4+8x2+16+1

‘plus’, then

afe + ® ef T R, x & osef wer W@, — w anf wmr & ofw v aef o B A W

(36x4)-8x4 T W B

4+8x2+16+1

(1) 1 (2) 0O (3) % {(4) none of these
UP/MATIE 3



62. If + means ‘minus’, — means ‘multiplication’, + means ‘plus’ and x means
‘division’, then the value of 10x5+3=2+13 is !
M+ e — W A - ad T A MR xT e AT A
10%5+3-2+3 & 3+ ¥N?

(1) S (2) 1% (3) 11% (4 —25

63. If p denotes +, Q denotes —, R denotes + and 5 denotes x, then
18S36R12Q6P7 is

R pwrod + 8 QErant —2 RE o - 8 s oot x & o 18536R12Q6P7

.4
(1) 115 (2) %ﬂ (3) 55 (4) 25

64. If A denctes —, C denates x, D denotes <, E denotes +, then 14C3A12E4DZ Is
equal :
o AT — 8 CH el x% OW oid + % E9 Y 4+ § o9 14C3A12E4D82
& T B 7
Q) (2) 28 (3) & (4) 32

65. [If‘orange’ s called 'Butter’, 'Butter’ |s called ‘soap’, 'soap’ Is called "ink’, "Ink’ |5
called "Honey”, "Honey' is called "orange’, which Is used for washing dothes.
af Hay o e wu W T AaE W wge ©E wg AR WEE ) W
= ot =l ® Tes FE AN o WER 1 Hewr &= Wi @ T 4 $ e

frwe vt v S

(1) honey (2) butter (3) orange (4) Ink

(1) WS (2) A (3) W (4) T
Directions: e,

Questions 66 to 70, words are given = gg=70 § el W1 Te=i qe @ wm
haphazardly. Arrange them in g 9% T=EFW © NTEw o 9 o
alphabetical order according to dictionary iy T we W [ Al o un

and point the one that comes first from
F fomeaf # & e 9Ed A #)
the given 4 alternatives.

66. (1) Apply (2) Apple (3) Appreciate (4) Appropriate
67. (1) Reliable {2) Represent (3) Recourse (4) Resource

68. (1) Proper (2) purse (3) personal (4) primary

UPMATON i &



69. (1) Render {2) Recdprocate (3)

70. (1) Imritate (2) International {(3)

Directions:

Questions 71 to 72 are based on figures.
Identify the number of figures asked for
in each question from the (figures
provided.

X

/ Figure -1

Reply {4) Revive

Intimidate (4) Invert

Bt

M 7i-72 amREl W oaEa #)
aghmt 4 A WE TE $ A gifoa
HTid o 9ol o Ee |

71. What is the number of squares in figure-1.

ST e uw i e i g ?

(1) 16 (2) 20 (3) 30 (4) 25

72, What Is the number of triangles in figure -1.

W HE=m e A fhad Begw & 7

(1) 48 (2) 32 (3) 36 (4) 40

Directions:

Questions 73 to 77, there are three
circdles with four numbers outside them.
In the first, two cirdes a number have
been filled ar_cdrdlng to .the rule. In third
circle, the guestion mark *?' is given. The
number which fits in the blank space is
given as one of the alternative below.
Find the correct answer.

e

73 9 77 4 @9 90 Ry T § s amer
a7 wea foeh o 8 a2 gl @
@u s wem Foemgew fodlt O O#)
dree o0 3 (F) @M 2w ) 3@ g A
Tl WE % AU 9w A9 9
THEE 9 & e By o Ree 4 4
ey |

2 ; 3 B

(1) 12 (2) 14 (3)

PR ATAOR

16 (4) 18






Directions: e
Questions 78 to 82 are based on sense of  7p—a2 % & WE fEwal T Tm W
directions. Read the questions carefully amenfia £) 9= fiv v wwt @ EIIH"{&EF

and mark the right answer of the given o afte oo o Tw Rt 4 @ TR
four altermatives. ;

78.

79,

81.

o fufga =41

A man travels 1 Km towards East from a specific point of place; thereafter 5
kms towards south, then 2 Kms towards East and then finally a km towards
Morth. How far is he from the starting point of place?
qmmﬁﬁqjﬁmﬁr#ﬁwﬁrﬁﬁwﬂﬁﬁuﬂuwmtzﬁmﬂ
FFoiflo 2fle &1 aiie, 2 Moo OF @1 ek, aft & U% ofle Toe 1 3R TN € T8
HTN AT MR TR H W W e g € 7

(1) 6Kms (2) 18 Kms (3) 12 Kms (4) 5 Kms

Mohan started from his house, walked 2 km North, then 3 km west, then & km
south, how far away from his house was he then?

W 3 TS e W e A e, B fioh Sew & mm, e oo ftem A
T AR 9EE AR v frofle W # Ty w e W R aw REen o A7

(1) 5Kms (2) 4 Kms (3) 3Kms , (4) 2Kms

A man walks 10 kms towards North. From there he walks & Kms towards
South. Then he walks 3 kms towards East. How far is he from the starting
point?

@ afis TR R 7 SR 10 frofle W & T a€ | 7€ 6 Rioh AT A R
wam & s TEe og a8 € Wodie offen @ v wew &) 78 @l Sl e
A T ® WA R e gy 8y

(1) 7 Kms (2) 5 Kms (3) 6 Kms (4 B Kms

A and B start walking from the same point, A goes North and covers 3 Kms,
then turns right and covers 4 Kms. B goes west and covers 5 kms, then tums
right and covers 3 kms, How far apart are they from each other?

A ST B S T € fdgai O uwT w fFE A Su B # SR 3 fedle W gl T
YAl £ 3% SEe qE TE AR g 4 [Fodle @ gl T4 Hwn 8| B wiEEA R W
Eﬂ?ﬁﬁnﬁaEﬁiﬂﬂﬁmﬁﬂ?mmﬁmqﬂﬁaﬁuﬁhﬁiﬂﬂ
T AR BTG g ¥ o g # 7

(1) 10 Km {(2) 9Km (3) 8Km (4) S5 Km
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82. A watch reads 4:30, if the minute hand points to East, in which direction does
the hour hand point.
T Ul " TR e T owa ReE ot € o e e o g fom M SR wea
e & W ou9 ol v o fw = Ef?

(1) North East (2)

(1) -9

Directions:

(2) -=fm o

South East (3) North West (4) North
(3) R uftem ' (4) WX

e

Questions 83 to B9, four figures are  gyq 4§ 83 ¥ s # uw amghrl & & £
given Three figures are similar in some T4 3 i sl & T Rl T A
specific way while one figures is different  ___ ? oEfE e wmh T sl

fram others,
differant.

B3,

=

Find which figure

is

4 fB= &) M Ry e 4 @ e
i T R # wam Sifa

gl

(1) (2) (3) (4)
84.
(1) (2). . (3) (4)
85.
—
¢ t
-
(1) (2) (3) {4)
UPMATOR 4 -3




Wl (M [N D

(1) (2) ETESSAT Y

87.
(1) (2) (3) - (4)
88.
(1) (2) (3) (4)
89,
§

W o [ X X

(1) (2) (3) (4)
Directions: O 1+ F
In question 90, there are three circles ww ¥ o0 # w1 78 fay 7q &
with six numbers outside them. In the gFm7 ge e farah gg 21 =
first, two circles a number have been & uw W frrarar ferht
filled according to the rule. In third circle, e # 7)) am Y
the question mark '?' is given. The S 3 & = EH%
number which fits in the blank space is " T fem ERbu
given as one of the alternative below, T4 WH & #¥ Ry W Rww
Find the correct answer. wifey |
S 1 4 [

8 s 5 3 8 3

- o
551 l
3 = 4 7 9 2 1
B 8 4
(1) 262 (2) 622 {3) 631 (4) 824
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